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% 1) #%(0.600kg) =g 8723 AR WEE |52Eh 1nY RHEFES 3 1] 2
X 1) #(0.600kg) z 293 K2 $HE 47 71h EF%wN 2 | KRB 113
X 1) #(0.600kg) z 705 FH BHF I35 % FEBHEL K 3 1] 4
% 1) #(0.600kg) EoS 7955 |=iE B 393 tt RETELLD 2 115
X 1) #(0.600kg) z 805 BFR &= 1 ¥t REZ R 2 |&R 116
1) #%(0.600kg) % 7967 | bLE 3V3 # FHE LS 1 1] 7
%) #%(0.600kg) =g 6239 ME =*EAR vhy I % ARG 3 1| 8
1) #(0.600kg) 7 2250  |RREB FEEF  |wh) A A 4 1] 9
X 1) #(0.600kg) z 683 TH #BK EDZ MY HEEX 2 | KRB 110
1) #%(0.600kg) % 759 |AI FE IAEVIRNAR i 3 1] 11
% 1) #%(0.600kg) % 1071 |IUTF EEF ¥ 5 REFER 112

fiiH 4 B o2y B4 B ZEN BiEEAL%i AR BRI | LY
/N <% —1%(4.000kg) E°S 7968  |PEE =] 9935 Yy RETELS 1 101
/N> = —$(4.000kg) £=q 6381 mIl ERZE |Z9h7 3 AfENLE 2 1| 2
/N % —1%(4.000kg) E°S 7969 | KfE %A vy 1% REBTELLS 1 113
/N7 —#%(4.000kg) % 599 4@ Sl M3 UhRFKR 1 1] 4
Ny 7 —$5(4.000kg) S 5858 |{REH #EE 1% 4% zils 2 1] 5
/N % —1%(4.000kg) £y 7956 |[#AT7T it WEL N BT LS 2 1] 6
/N % —1%(4.000kg) E°S 5890  |fm#k FE Y Jan ¥y ¥ zils 3 1] 7
N = —$2(4.000kg) S 529 | K EE 1t 743 KEA 2 1] 8
/Ny < —1(4.000kg) E°S 7995 B i3 8y) tt FEFE LS 3 1|9
/Ny < —$(4.000kg) z 975 =48 EFI AI4Z nLh KIBK 1 1|10
/> % —$(4.000ke) % 5 | EFP Thy' v THIEA 4 |eH 11
N7 —$(4.000kg) % 19 |lUX #x TVEL H#Y SR 3 |mE 1] 12
/Ny < —1(4.000kg) 7z 47 =% =EE 347 kPRI M aEER 1 |&FH 1113
/N —$2(4.000kg) Z 394 |51 BARF |4 3 REX 2 1|14
/N~ —1%(4.000kg) £y 393 |#E#t 5l ZYh7 313 REK 4 1|15

-37-




filiH 4, | Bk S Bk 4 [iSZED ArEa bR | o | s | v
TEHRR z 6989 FH =H=E nI4 pEI ARE 2 1|1
BB S 7559  |EEE R (1YY RS 2 1] 2
CHEER % 6203 |MmMA B Yhy Mt RS 2 1] 3
tEHRN £y 7418 EH =5 NIET HhR FENES 1 1| 4
TR z 489 iR ) Yy 713 FREK 3 1|5
LR % 1007 | EJI EE Y00 MVt ECON 1 1] 6
LRERR S 7562 AR mEE WEL 0/ RS 2 1] 7
LR % 5701  |FlR =& ¥Ing 371 BV 2 1] 8
tESR % 214 |RE B 73 V31 BN 4 119
CRERR S 68 |NEE K M 14 BRZEZA 4 1]10
CEHER S 142 |EHE X kot 7u1 EEzELA 1 1] 11
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FEH% Ll Bt B BERE A A ZEN P44 R AR [T M | Vv
/N> < —$%(6.000kg) DEA ) 3636 1Eik i Fh9 Rk 2 1 1
/N> < —#(6.000kg) HEEA 5 2501 J\H HFi A antd AEILS 2 1| 2
/N>~ —$%(6.000kg) BEA | B 3663 E&I B |nth’ 0 44 TtES 2 113
/N> < —$%(6.000kg) HEA ) 293 ErAK B4 |4 72+ BHLE 3 1| 4
/Ny = —$#(6.000kg) SEA | B 3672 skE K0 Th 4 vk TES 2 1] 5
N7 —$(6.000kg) LEA | B 3673 BE K& ahv bER TtES 3 1] 6

FEH% TR Bt B BERE A A ZEN T 44 IR AR (MBI M | Vv
100m LEB | B 1927 KE B Ot eq ZilE 1 1] 1
100m HEB | B 1928 £E IKBR  ([#0F 24n9 zilE 1 1| 2
100m HEB ) 1925 A ZEMW 914" 39 zils 1 1| 3
100m SEB | B 3518 Bl FE NY ¥ Yagv BES 1 1| 4
100m LEBR | B 1926 HwmE BRI 9N E1hh P = 1 1|5
100m HEB | B 3519 ZI R’ Y2h7 yn' 4 BES 1 1|6
100m LEB | B 9424 K =3 y3x" tab REAFTES 1 1|7
100m YEB | B 3520 Rk RIE 12V HBES 1 1] 8
100m LEB | B 3136 =HF 3t 794 hqb AR 1 1|9
100m S2EB | B 3517 FR D Thh3 ovy BES 1 2 |1
100m LEB | B 2302 B R h 5444 S 1 2 | 2
100m HEB ) 4236 BRE ME 7974 14} REBES 1 2 | 3
100m HEB 2B 3918 EME BT | YT HibE 1 2 | 4
100m SEB | B 4239 V' FoFE 4z ¥b% RS 1 2| 5
100m SEB | B 3526 "F B hkyh 139 BES 1 2| 6
100m LEB | B 3483 BEE i} VaPLEN BAATRS 1 2 | 7
100m LEB | B 9909 EX EA EVEr 3AVH EENTE T 3 2 | 8
100m LEB | B 4739 IR Ay Y avy REXHE 1 2 | 9
100m LEBR | B 4105 AE XKH B9 bk REESES 1 3] 1
100m SEB | B 21544 MRE E 758 7Y% iR 3 3| 2
100m HEB 2 1931 Tl A2 A 7HYY 2%t zils 1 3 3
100m LEB | B 3684 BE BN I8 hurk TtES 1 3| 4
100m LEB | B 3685 XA HEE Y vt tES 1 3| s
100m HEB ) 2790 &k 5= YR hh &S 1 3] 6
100m SEB | B 3922 FH B 1M 193 =y 1 3|7
100m HEB 2} 3482 Al ZEX b VEEZUL] BEOATRS 1 3| 8
100m HEB 2 4102 ® pakie! A3 )iy TSRS 1 3 9
100m HEB ) 3920 TR B |7V F 19h I 1 4| 2
100m HEB ) 3524 dF {Z—BR  |¥9L7 Y u4FAn [BES 1 4| 3
100m LEB 2] 4101 TR E 7 a9a REEFER 1 4 4
100m SEB | B 2309 w2zt = b 9/9T 139 itz 1 4 | 5
100m LEB | B 4242 5| =2} A7 )Y L RETES 1 4| 6
100m LEB | B 1929 FH Z£EA 199" 4hb zis 1 4| 7
100m HEB s 30401 AHE BEXRER (524 Yavsny RIREF 3 4 | 8
100m LEB | B 9421 It B= 497 19% RHREES | 1 4|9
100m HEB s 3926 NH - 958 YTy HLE 1 5 | 2
100m LEB | B 21831 & Fllps 194 3 Jedks 3 5 | 3
100m HEB B 4104 BAR KK {7%h Y14 REEFER 1 5 4
100m HEB 2} 3686 AKE @A Y nvb TtES 1 5| 5
100m HEB s 1690 ZFN =] )hT 1 s 1 5| 6
100m 2EB | B 3921 mlll X YhT 0 395 4 LS 1 517
100m HEB ) 9903 BIE MB I8 Y3 EEME 3 5 | 8
100m LEB | B 2304 EE B hath v vak TIRES 1 519
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FEH% Ll Bt BekF BHE A A ZEN P44 R AR MG K| v
3000m HEB ) 6318 XK &EBE tHyn yoy % 4 A 3 1 1
3000m HEB | B 3344 Sy Sy i B VMY (b i - BES 1 1| 2
3000m LEB | B 3143 Wiz BELE  |[vIh s Frb AR 1 1] 3
3000m LEB | B 9056 Hg B ah T3V Bl 1 1| 4
3000m HEB B 9477 Rl &8 h4yy a9y RES 1 1 5
3000m HEB | B 2822 FE B=E MYRLL BEAT AC 2 1] 6
3000m HEB | B 1691 Fo KAt ) 4 4% E1 4= 1 1|7
3000m LEB | B 2535 JKE ER—ER  [32°47 Yav{Fny |BEATAC 2 1] 8
3000m HEB ) 6708 #HE H£45 VELMVEV] Heeh 2 119
3000m HEB B 2533 BEE K 794 hhh BEAT AC 3 1] 10
3000m HEB ) 2312 a1 3t T F v an AR 2 1|1
3000m HEB | B 21837 B EE3 Y& 119} Jemis h 3 1| 12
3000m HEB | B 2561 =B 2% 7hYyT ) bEF zzpul= 1 1|13
3000m HEB 5 9281 INK H{Z Y4 Wb =REXES 1 1| 14
3000m LEBR | B 2302 S B VSV BN 3 1| 15
3000m SEB | B 1111 iR =1 I v E=) 1 1| 16
3000m LEB | B 8508 BH F0RE YAY 11 R H 2 1| 17
3000m SEB | B 1430 KiE 8% THyh Y19 Bl 1 1 | 18
3000m LEB | B 4415 AW 1B /47 Ehl & 2 1| 19
3000m HEB B 2534 W #EX YYEh 194 BEAT AC 3 1] 20
3000m HEB 5 9480 B st N/ hqb MES 1 1| 21
3000m YEB | B 6709 kB Xt #b9 EDb AR 2 1| 22
3000m HEB B 1697 wHa =3 WA Hth Bl 1 1] 23
3000m LEB | B 2564 KE £3 by VALY HiE 1 1 | 24
3000m LEB | B 8551 HI R 191 192F R 3 1| 25
3000m HEB B 2797 WE #8 Wt 3% BEs 1 1| 26
3000m HEB ) 1312 VN BE 4= 198 il 1 1| 27
3000m HEB ) 1113 2% P WA A9 EX) 1 1| 28
3000m LEB | B 8555 A EBE W) 193 BB+ 3 1| 29
3000m HEB | B 9473 pig=) 3 9507 LY BES 1 1|30
3000m HEB ) 1401 HO HIK 19" F 194 Bies 1 1] 31
3000m HEB 2B 8504 EX B+ A% a9y 1R h 2 1] 32
3000m HEB B 9475 XTF #E3 T4 a9b RES 1 1] 33
3000m HEB ) 6312 =0 EE 1948 nvh % 4 @ 3 1| 34
3000m HEB ) 2536 HM E—ER |4 F4{F0O9 BEAT AC 1 1| 35
3000m HEB ) 8501 PRIAE I 7HY 1T b 1R 2 1| 36
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FEH% Ll Bt BekF BHE A A ZEN P44 R AR MG K| v
3000m HEB 5 1406 59747 = ANWAN /¥ BitE 1 2 |1
3000m HEB 5 6771 i} %= hov EE # Hedh 3 2 | 2
3000m LEB | B 6773 B8 0 7593 ¥3b ferp 3 2 | 3
3000m HEB ) 1114 AR & H9IN Y nb ESS] 1 2 | 4
3000m HEB 2B 1115 B=H i 794 0 h EX) 1 2|5
3000m LYEB | B 9284 HH FX 3v4° Ik mREXES 1 2 | 6
3000m LEBR | B 3528 FR X& 1 44y BEE 1 2 | 7
3000m HEB 2 3733 KkHE r3k 34" 3tA RS AT S 1 2 | 8
3000m HEB 2 1403 iR Bk a2 Biles 1 2|9
3000m LEB | B 1112 IR 2% I3 293F E3= 1 2 | 10
3000m HEB B 3523 BE &8 h4n3 avy e 1 2 | 11
3000m YEB | B 4404 Y5 B 703 WY &AL 3 2 | 12
3000m LEB | B 2304 N b3l 4F b BB 3 2 | 13
3000m LEB | B 3731 EAX 23 FEb B4 P PN 1 2 | 14
3000m HEB ) 3350 = = 34570 Y1y ImEE 1 2 | 15
3000m LEB ) 6770 jhva 1% T8 F 19 Hp 3 2 | 16
3000m LEB | B 3529 AIE A I8 14}b RS 1 2 | 17
3000m HEB | B 9472 HAK FEH 1E+ 7VY BES 1 2 | 18
3000m LEB | B 9479 BT =/ F3I Yagkq RES 1 2 | 19
3000m HEB | B 2563 B8E BT AT Y3 zzpul= 1 2 | 20
3000m LEBR | B 2305 EE X J9ng THER BN A 3 2 | 21
3000m HEB 5 3141 RH ME 95 H3 Y ARG 1 2 | 22
3000m HEB 5 1117 JERR 5n ) AN E3S] 1 2 | 23
3000m HEB 5 9471 FH 5 Oz ML ED MES 1 2 | 24
3000m HEB B 3527 A0 B AZH°F )39y e 1 2 | 25
3000m HEB | B 2324 Fiii) St oy Wy RPN 3 2 | 26
3000m HEB ) 6710 st B YY" EAY Hp 2 2 | 27
3000m LEB | B 1404 =H pi PR LY e = 1 2 | 28
3000m HEB | B 9481 LI FE 5 Yeih o4 BES 1 2 | 29
3000m HEB | B 3522 BBy FLeR 197 4h73 BES 1 2 | 30
3000m HEB ) 1407 BITHE H I8 734 EitE 1 2 | 31
3000m HEB B 3732 =H [lE EDZ MV ED) REAKRE = 1 2 | 32
3000m HEB | B 3531 D R 74FA° 7Y% BES 1 2 | 33
3000m LEBR | B 9474 AR 2 T T BEE 1 2 | 34
3000m LEBR | B 3516 SH BEth 13L3 192F BEE 1 2 | 35
3000m LEB | B 1402 AHE FSBLE (1Y% $39van B 1 2 | 36
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HLH 4 R | Bk TG B4 K493 FUBRABEER | 4 [MBarr| #1 | v
110mU20H(99.1cm_9.14m) | 4B =] 1933 (1T m] 55 Y9 F 39 ZilE 1 1 2
110mU20H(99.1cm_9.14m) | A 4B 5 3518 EBlE FE WY+ vagv EEE 1 1| 3
110mU20H(99.1cm_9.14m) | A 4B 5 3927 A+E BEE |40 IV iy I 1 1| 4
110mU20H(99.1cm_9.14m) | 4B 2 1796 B BEE NEM 29% ETE 1 1 5
110mU20H(99.1cm_9.14m)| S4B | B 3530 Lt [SER L3hs nV7¥ BES 1 1| 6
110mU20H(99.1cm_9.14m) | 4B B 2305 €l #H|=E N 453 Ciir=) 1 1 7
110mU20H(99.1cm_9.14m)| H»%&EB | B 1932 KT EHiE HI vty zilE 1 1] 8
110mU20H(99.1cm_9.14m) | 4B 8 1795 JEH B N M ETE 1 1 9
110mU20H(99.1cm_9.14m) | A £B ES] 4238 =1 = 8hA LY RS 1 2 2
110mU20H(99.1cm_9.14m) | A 4B E 3919 EF¥ E— 43h3 V4F EIIT= 1 2 | 3
110mU20H(99.1cm_9.14m) | »&B B 3131 FAE EF Yy L AVal] RS 1 2 | 4
110mU20H(99.1cm_9.14m) | 4B 3] 1692 e 1A {Yn" 19h t#ES 1 2 5
110mU20H(99.1cm_9.14m) | A4 B ) 2102 2% EBA 4943 nbb REBLHE 1 21 6
110mU20H(99.1cm_9.14m) | A4 B 5 2684 EE O EEIR VLR 244 LTS 1 2 | 7
110mU20H(99.1cm_9.14m) | »&B B 4235 72 S 134 Enotp RS 1 2| 8
110mU20H(99.1cm_9.14m) | 4B B 1694 BBRAS RER kv A Bl 1 2 9

HLH 4 R | Bk TR B4 K493 FURABEER | 4 [MBarr| #1 | v
EER HEB 2B 9279 mH A= 4 Wit Z2RRBE 1 1 1
FE IR LYEB | B 9425 K EEE 4 3928 REpRyES | 1 1] 2
FENEk HEB ) 1930 MR EKX LU EDL] zils 1 1| 3
FE BBk HEB | B 2792 It& —=E 947 HA°V s 1 1| 4
TRk HEB B 1791 EHK O OEE Y NEVED BPs 1 115
ENRBk HLEB ) 2306 JNEFD E£A  |17/8 avb gl 1 11 6
ENEB LEB | B 4231 A BE3 A 74b RS 1 1|7
i@k HEB | B 3683 ®BE B2 |7 M Ny |EEs 1 1] 8
AR »EB | B 124 JIURE THRER  |A7hY 29309 BT 3 1] 9
ENRBk HLEB s 4742 HE =85 Y5 793 TE S 1 1| 10
Bk LEB | B 4741 g EE ¥ % ajq RESCH S 1 1|11
E IR YEB | B 3517 BRI Thh7 oy S 1 1] 12

HLH 4 Rl | Bk TG B4 K493 FUBRABEER | 4 [MBarF| %1 | v
FI824% (1.500kg) LEB | B 4106 FSIT PN WYY Y94 REESES 1 1] 1
MI854%(1.500kg) HEB ) 9426 WA MEH WE 14} REHERFPES 1 1] 2
F824% (1.500kg) LYEB | B 1943 5 K5 71/ 19t zilE 1 1] 3
FI884%(1.500kg) HEB B 3687 ARES 1EMI Ny M Iah tES 1 1 4
FI#44% (1.500kg) HEB 5 17161 KE Eit 17 bub g 1Ly e 3 1| 5

HLH 4 R | Bk TR B4 K493 FURABEER | 4 [MBarr| %1 | v
5000m k3= DELB| B 2675 EH &3 w4 b LTSN 1 1|1
5000m 5 4 DENLE| B 2101 B #EiE2 ath 394 RRIZRS 2 1] 2
5000m k8= LELB| B 3123 = %5 34z 0 RS 2 1| 3
5000mEs 4= LELE| B 3502 e ¥E Y F 745 BES 2 1| 4
5000m ks SEE| B 3119 I EX ' v AR 2 1| 5
5000mE 3= DELB| B 3582 ER %S4 Ah4° MY EEE 3 1| 6
5000mEsE 4= LEHE| B 2663 WA f#EX YYEN 29874 EICIEEA 2 1| 7
5000mEsE 4 SERE| B 2146 B4 BAEY /L7 T¥b REIERES 2 1] 8
5000mEE 2= SEHRB| B 2504 INEI ¥Rk an van #h4 AL 2 1 9
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FEH% Ll Bt BekF BHE A A ZEN P44 R AR MBS M | Vv
100m LEB | & 7930 WH =W ¥4 3b REES 1 1| 2
100m HEB %@ 7925 FAO  fnk N F bk T ES 1 11 3
100m HEB E<d 7923 KBl B3y YT tF/ REBES 1 1| 4
100m LEB z 7124 HEnE B Yh9y" 74N AR EE R 2 1 5
100m SEB | % 7922 K& IDE Tt 37 REES 1 1] 6
100m HEB | % 8644 1R ME {49 14 EAKRTLS 1 1|7
100m HEB E°d 7926 H = k5T w17 REBES 1 1| 8
100m HEB | % 5860 A BE 7 nbh zilE 1 119
100m HEB @ 6210 FH #%F 199" 22 % S 1 2 | 2
100m LEB | % 7958 WA FE TYEr U0 FHELE 1 2 | 3
100m HEB | % 5732 djl| Ei#E ThH D A ERE 1 2 | 4
100m YEB | & 7116 JNE DE 19/ 13t BRI 3 2 | s
100m LYEB | & 6951 AXE &R Y #7 RS 1 2 | 6
100m HEB © 5414 =afl-} ik v hiF Biles 1 2 | 7
100m HEB 7 7118 BH O ORKRSR 197" 3t R EFH 3 2 | 8
100m LEB | % 8645 ne b 174" F 33/ BAATRS 1 3] 2
100m HEB E°8 7121 mH BEZF |4 &/ AR EE R 2 3 3
100m HEB E°d 7959 sk HITE MTE 24t REBAELS 1 3] 4
100m YEB | & 6512 il HE 7 /7 BlEE R 1 3] 5
100m HEB @ 7415 %A BATE thh ®h R ES 1 3] 6
100m LEB 7 5842 KHE HE T4 9% Bl 1 3 7
100m LEB | % 7122 E¥H Ez ks U4 RS EH 2 3] 8
100m LEB | & 9603 g faE 4 £ 19 B 1 4| 2
100m LEB | & 21532 E# mEE BN Y 330N AasbE 3 4 | 3
100m HEB 7z 6604 KBl E& 1 vy BEs 1 4 | 4
100m HEB | % 6219 AN BE YF A S 1 4| 5
100m HEB | % 5841 B Fofmn 4y 3174 BIEE 1 4| 6
100m LEB | & 7967 TR O EVIN kS REAELES 1 4|7
100m HEB S 5861 Eig = NN 7H zilE 1 4| 8

FEH% TR Bt BekF BHE A A ZEN T 44 R AR (BT M | Vv
1500m HEB E°4 7963 My KEZE  |h3v 1Lt REBAELS 1 1|1
1500m HEB | % 7965 &)l his| 3317 ¥ 1y REFELS 1 1| 2
1500m HEB | % 7201 N OV |30 e THES 1 1] 3
1500m HEB =8 5131 g EBF 495 1% Ex=) 1 1 4
1500m HEB | % 2302 NHE HERK |97 131 RPN 3 1|5
1500m HEB 7 6507 mil EE ~YhT7 7An EICIEYA 1 11 6
1500m HEB %z 7962 ErARK I |4+ T REEFILE 1 1] 7
1500m HEB E°8 7120 AF E&HE 395 #1 AR EE R 2 1 8
1500m HEB | % 5132 =p;& S Yt #+ E3= 1 1] 9
1500m HEB | % 2304 FLRF— HF#HA (4 VAF-n-1z- RPN 2 1|10
1500m HEB % 6508 JNEx EAR YT % LISt 1 1|11
1500m HEB % 2306 - B LL 123 994 Rt 2 1| 12
1500m HEB 8 8501 =ik = H{by 7H4 18R 3 1] 13
1500m HEB 7 5130 FiE 2K 1M 13 Ex=) 1 1| 14
1500m LEB | & 6708 E OBAA 17 113 e 2 1| 15
1500m HEB | % 2540 BEAR EXR FEh 3/ BEAT AC 1 1| 16
1500m HEB © 6606 = % H % i AR 1 1 | 17
1500m HEB | % 7109 Ik R=E Ity 71% AR EE 1 1| 18
1500m HEB E°4 5133 BHR BEfE N3 hk E3S] 1 1|19
1500m HEB Eo8 8646 BE B Y39 14 EOATRS 1 1| 20
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FEH% Ll Bt B BERE A A ZEN P44 R AR [T M | Vv
100mU18H(76.2cm_8.5m) | H&EB | % 6951 KE &% Y 49 RS 1 1|1
100mU18H(76.2cm_8.5m) | A4EB | % 6221 =H H¥E I8 F4 FHE S 1 1] 2
100mU18H(76.2cm_8.5m) | A 4B E°d 5733 B K& #b 19 B¥E 1 1| 3
100mU18H(76.2cm_8.5m) | A 4B % 5732 )l E# T 7Y BYE 1 1| 4
100mU18H(76.2cm_8.5m) | A 4B % 6952 KB TEMR Hny bk ARG 1 1| 5
100mU18H(76.2cm_8.5m) | »&B %z 7924 FE =E=EF |+ Wt T ES 1 11 6
100mU18H(76.2cm_8.5m) | 4B =8 9901 mF FE hh3 M FHHRFES 1 1 7
100mU18H(76.2cm_8.5m) | 4B z 6212 X#E A& 17y Ex ficpaT= 1 1 8
100mH(83.8cm_8.5m) HEB i 6603 B2 ¥Z ahny 7Yt &S 1 119
100mU18H(76.2cm_8.5m) | »#&EB %z 9722 TR XE&E 9INg HbY EEES 1 2 1
100mU18H(76.2cm_8.5m) | 4B z 7124 EEFEF BIE Y9V 74 RERCEH 2 2 | 2
100mU18H(76.2cm_8.5m) | A 4B E<d 7929 B == 7497 31% REBES 1 2 | 3
100mU18H(76.2cm_8.5m) | 4B E°8 5480 EH O BF Y4" 74 Bl 1 2 4
100mU18H(76.2cm_8.5m) | 4B E°8 7121 mH BEZF |4 AR 2 2 5
100mU18H(76.2cm_85m) | H4&EB | % 5731 EZW BEF 4 73 E¥E 1 2| 6
100mU18H(76.2cm_8.5m) | H4&EB | % 6506 FFE WEF (T Hha Bl E=%E 1 2 | 7
100mU18H(76.2cm_8.5m) | H&EB | % 9602 XE ICZ AI3Y 213 A 1 2| 8
100mU18H(76.2cm_8.5m) | » 4B z 6059 dAr  BUEH Thk7 )3 THILZBRS 1 219

R TR Bt B BERE A A ZEN T 44 R PR (BRI R | Vv
FI884% (1.000kg) LEB = 7969 X8 1&A8 =y 1v% FEAELE 1 1 1
FI424% (1.000kg) LEB | & 7117 Al il VERER R ES 3 1] 2
FI#84%(1.000kg) HEB | % 6383 =55 ER 1Y/ ik AL 1 1| 3
F3424% (1.000kg) LEB | & 7966 8 NVF 8z not REAELS 1 1| 4
3242 (1.000kg) LEB | % 7352 HE BBAIE |t/ Wb TtES 1 1] 5
FI#54% (1.000kg) HEB | % 7353 &Nl A ME9 19 TtES 1 1|6
FI8 1% (1.000kg) LEB | & 7351 FiA XM 75% 3k tES 1 1] 7
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EFBE2R T

fii H 44 el Bt B BEE A EZEN T @44 s R SRAE (BERTIR ML | v
/N> < —$%(6.000kg) DEA 2B 3636 {kpk = Fhy RIS 2 1 1
/Ny = —$#(6.000kg) SEA | B 2501 J\H 175 N4 294 AfILE 2 1] 2
N> = —1%(6.000kg) LEA | B 3663 BAN HE (n T 550 tES 2 1|3
/N> = —#(6.000kg) DEA 5 293 ERAR R |44% 72+ BAbLs 3 1| 4
/N> <7 —$(6.000kg) HEA B 3672 sKE  KF "4 ¥vb TED 2 1 5
N7 —$(6.000kg) LEA | B 3673 BE R#& ot bER EES 3 1] 6

fiEH4 T 1) B B B4 EVZEN T I 44 s R SRAE (BERFIR ML | v
100m SEB | B 1927 KE R Tht hit4 Zis 1 1|1
100m LEB | B 1928 EE IEKBEA |[#04 24m9 zils 1 1] 2
100m HEB ) 1925 il =E/FH 914" 319 zils 1 1| 3
100m SEB | B 3518 B FE WY £ V19w i 1 1| 4
100m DEB B 1926 HBE BRI 9 0N 1ol Zils 1 1 5
100m HEB 5 3519 ZIl FRH Y09 9N 4 RS 1 1| 6
100m HHEB 3 9424 EKk =23 32" @b REBHRFZED 1 1| 7
100m LYEB | B 3520 REE SIE Fuh 9 294 HES 1 1] 8
100m LEB | B 3136 = 83 7594 h4b FERS 1 1| 9
100m LEB | B 3517 A D Thh3 Fovy HES 1 2 |1
100m LEB | B 2302 B R Th 44t4 ESE 1 2 | 2
100m HEB B 4236 BEEH M2 798 14} REBWES 1 2 | 3
100m HEB 3B 3918 SR BT IV YT Hilim 1 2| 4
100m HEB | B 4239 N FCHE A= % RS 1 2 |5
100m HEB 3B 3526 T R Y4 )39 EEm 1 2| 6
100m LEB | B 3483 fe il 1YY M7 BAATRS 1 2 | 7
100m LEB | B 9909 EX EA EVEh 3VH & EAHE 3 2 | s
100m LEB | B 4739 IR N vy Y vy R 1 2 | 9
100m LEB | B 4105 s K Y3 nbb RS 1 3 | 1
100m LEB | B 21544 EHE %HE 74 7Y% EEi ks 3 3| 2
100m DEB £ 1931 HFl ASA 7HY 1%} Zils 1 3 3
100m HHEB B 3684 BIE &N I8 hurk TtES 1 3| 4
100m LEB | B 3685 KA HiE 4y nE TTES 1 3|5
100m HEB L] 2790 Emk = VIR hTh B 1 3| 6
100m HEB L 3922 FHE AR 1by 193 Hils 1 3| 7
100m HEB B 3482 wmIl ZX R DEETUL BARFERS 1 3| 8
100m HEB L 4102 ® At LURIEd A EF S 1 3] 9
100m HEB L] 3920 BRHM B |7V F 19b HLE 1 4| 2
100m HEB ] 3524 IF {C—BR  |[$9LF ¥ u4FAn  |EES 1 4| 3
100m HEB B 4101 HARK E 7% a9ad REERES 1 4| 4
100m LEB B 2309 w2 F 3= YL AEED] i) 1 4| 5
100m LEB | B 4242 Al 2] AWD°D )V L RS 1 4| 6
100m SEB | B 1929 FH Z2A 194" 4hb Zis 1 4| 7
100m LEB B 30401 BHE BEXKER  |4z4 Yavhsny KRB 3 4| 8
100m HEB B 9421 IR #B=E 9% 19% REBHRFED 1 419
100m HEB B 3926 NH 1= 9F8 YTy =S 1 5 | 2
100m LEB | B 21831 & A5 194 35 A3 555 3 5 | 3
100m YEB | B 4104 EAX BX 19%h Y294 RHEFES 1 5 | 4
100m HEB B 3686 - DN ¥ b TtES 1 5| 5
100m LEB 2 1690 N = BT % LS 1 51 6
100m LEB | B 3921 &I IEX YD Anh 4 HLE 1 5 | 7
100m HEB 2B 9903 BIE MB I8 Y5 EEES 3 5| 8
100m HEB B 2304 FiE B hath ¥ Ak Lisd T 1 5 19
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3000m 2EB | B 6318 A ES Hn 9y 1 4 ] 3 1] 1
3000m YEB | B 3344 =E K3 IR e - RS 1 1] 2
3000m LEB | B 3143 Wiz By |vh st AR 1 1|3
3000m LEB | B 9056 At B% a1h 783V BELS 1 1| 4
3000m HEB B 9477 KL &E hayv amy RES 1 1 5
3000m SEB | B 2822 FE BE 1 v BEAT AC 2 1] 6
3000m LEB 3B 1691 F Kt ) A 4% Ele o4 1 1] 7
3000m LEB | B 2535 KiE EE—HER |32 47 Yav{F@g |BEATAC 2 1] 8
3000m HHEB 3 6708 H#HE &5 EEMVEV] S e 2 119
3000m SEB | B 2533 BHE IK 754 44} BEAT AC 3 1] 10
3000m HHEB 3 2312 [ 15§ 'y 4+ vy AR 2 1|11
3000m HHEB 3 21837 BN g3 Yax 1)agh Jtybs 3 1| 12
3000m LEB 3B 2561 =B =% 78y ) bR B 1 1| 13
3000m HHEB ) 9281 JI\NK  H{= Y4 b HEERES 1 1| 14
3000m LEB | B 2302 ELSIEEE EIS L B ch 3 1|15
3000m SEB | B 1111 iR E I It £ 1 1| 16
3000m HHEB ) 8508 ME  FOEE A8+t B 2 1| 17
3000m HHEB 3 1430 Kig (&£ THIh Yan Eie 1 1| 18
3000m LEB | B 4415 K/¥ #E $/45 Ehl e 2 1] 19
3000m LEB | B 2534 W #EX YvEb 195 BEAT AC 3 1|20
3000m HEB B 9480 HHEF kit N/ Bb eSS 1 1|21
3000m LEB | B 6709 1k " i Ehl e 2 1| 22
3000m LEB | B 1697 W =3} L7 Bt TS 1 1] 23
3000m HEB 3B 2564 KE £3i 1+ b Rl 1 1| 24
3000m LEB | B 8551 H1 R /91 192F 1R 3 1| 25
3000m DEB 2 2797 WE #& W IV BEE 1 1| 26
3000m HHEB B 1312 N BE = 198 Hhilis 1 1| 27
3000m HEB 3B 1113 &% kg WA o9 E3) 1 1| 28
3000m VEB | B 8555 1% EBE W) 193 BE+ 3 1| 29
3000m LEB | B 9473 i) 3 9in7 LY R 1 1] 30
3000m HEB B 1401 H0O HIX 19" F 194 b= 1 1|31
3000m HHEB B 8504 BRK BL A% a9y 2R 2 1| 32
3000m HEB £ 9475 XKTF &3 114 a9b BRES 1 1| 33
3000m LEB | B 6312 EH EE 195 nbk % 4 if 3 1| 34
3000m DEB 2 2536 HMM E—ER inNg h{4F079 BEAT AC 1 1] 35
3000m LEB | B 8501 FIA:E IR 4y 1z W R 2 1] 36
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fii H 44 T3] Bt B BEE A EZEN T @44 s R SRAE (BERTIR ML | v
3000m LEB | B 1406 547 = VANWAN S ] BIE 1 2 |1
3000m LB 5 6771 pin]=! %= hov b % Heeh 3 2 | 2
3000m LEBR | B 6773 &8 7593 ¥3b fErh 3 2 | 3
3000m HEB s 1114 PEINEY > .= HIN Y nb EX) 1 2 | 4
3000m LEB B 1115 B=H i3 794 0 h EX) 1 2|5
3000m HEB 5 9284 TH FX EDZ M 11| =ERES 1 2| 6
3000m LEB | B 3528 BR X& 1) 44y BES 1 2 | 7
3000m LEB | B 3733 &KHE FRR 3% 3to REAKRES 1 2 | 8
3000m SEB | B 1403 iR K iz ES 1 2 | 9
3000m LEB | B 1112 IR 244 I3 19aF £ 1 2 | 10
3000m HEB B 3523 BER &8 h4ng 19y e 1 2 |1
3000m HEB 2 4404 ER = 7¥°05 Yy & 3 2 | 12
3000m LEB | B 2304 MA 0 297 M REE 3 2 | 13
3000m LEB | B 3731 A R FE 24 REHNAED 1 2 | 14
3000m LEB ) 3350 = %= LSV NILED] IwiEE 1 2 | 15
3000m LEB ) 6770 Jihva 1% 78 F 19 ey 3 2 | 16
3000m LEB 3B 3529 BIE #A Y148 14} wEm 1 2 | 17
3000m HEB 2 9472 HAX EW 1Eh 7V B ET= 1 2 | 18
3000m LEB | B 9479 RII =R F31 13944 RES 1 2 | 19
3000m DEB 2 2563 B’BE2 Bz D Y3 HZs 1 2 | 20
3000m DEB 2 2305 ER FX 4905 vER SR R 3 2 | 21
3000m HHEB B 3141 FH ME L2 ) S [icp ) 1 2 | 22
3000m HHEB B 1117 SRR 5h Y AN E3 1 2 | 23
3000m LEB | B 9471 AEH B 195" 393y ES 1 2 | 24
3000m HHEB B 3527 A0 & A2h"F Y3uy B 1 2 | 25
3000m LEB | B 2324 [iic] L Y Wy TR 3 2 | 26
3000m LEB 3 6710 st =4 YY" kA7 ey 2 2 | 27
3000m HEB 3B 1404 =H E b3E LY S = 1 2 | 28
3000m DEB £ 9481 1L E E Yetrh -U% = 1 2 | 29
3000m HEB 3B 3522 BBy F5h 147 4h73 EEm 1 2 | 30
3000m HEB 3B 1407 BTE H I8 734 Bl 1 2 | 31
3000m LEB | B 3732 = Rl EDZ AU E D] AN AT 1 2 | 32
3000m HEB £ 3531 ED K ULS N E EEm 1 2 | 33
3000m LEB | B 9474 KK BEE THE 7% ES 1 2 | 34
3000m YEB | B 3516 S Btk 13h7 19AF BES 1 2 | 35
3000m YEB | B 1402 AH FEBER 1Y% $39v0n HIS 1 2 | 36
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110mU20H(99.1cm_9.14m) | H&B B 1933 w0 ] Y F 9 zils 1 1] 2
110mU20H(99.1cm_9.14m)| H&B | 5 3518 B FE Y Yagv EEE 1 1] 3
110mU20H(99.1cm_9.14m)| 4B | 2 3927 A+E B (167 Y Bl 1 1| 4
110mU20H(99.1cm_9.14m)| H&B | 5 1796 BA BEF NEF 2% BPB 1 115
110mU20H(99.1cm_9.14m) | HEB | 2 3530 E B8 L3h3 nTH KES 1 1] 6
110mU20H(99.1cm_9.14m) | » B 2B 2305 £l #H|=E Nth 453 Fi A=) 1 1] 7
110mU20H(99.1cm_9.14m) | A4&B | % 1932 KiI EHHE I vty zilE 1 1| 8
110mU20H(99.1cm_9.14m) | 4B | 2 1795 EME i Ny M 5PE 1 1|9
110mU20H(99.1cm_9.14m)| S4B | B 4238 =1 &= 4R LY RS 1 2| 2
110mU20H(99.1cm_9.14m) | 4 4B | 2 3919 £ BE— 4343 U4F T 1 2 | 3
110mU20H(99.1cm_9.14m) | A4 B 2 3131 AR EF ey vy ERE 1 2 | 4
110mU20H(99.1cm_9.14m)| »%&B | 5 1692 HeER & A {ya™ 19} &S 1 2|5
110mU20H(99.1cm_9.14m) | H B 3B 2102 2% EBA 49L7 nbb TS 1 2| 6
110mU20H(99.1cm_9.14m)| H&B | 5 2684 #m EREf v by RSk 1 5> | 7
110mU20H(99.1cm_9.14m) | £ B 3B 4235 =72 EH 134 top A S 1 2| 8
110mU20H(99.1cm_9.14m) | A4 B S 1694 A RER T4 Yo Elee ) 1 219

[iAEES T3] B e B 4 IZZEN T I 4 W AR #| vy
EER HEB S 9279 mH A= 94 nhax =2ERE 1 1 1
E iR LYEB | B 9425 KA 4 39 REpEREES | 1 1] 2
BB HEB e 1930 MA EAX LUUFEDL] zil:s 1 1 3
FE Bk LEB | B 2792 ItH® —=E L3 AR Y &S 1 1| 4
BB LEB | B 1791 FHK OWE VIR vaY EVE 1 1|5
EER HEB % 2306 BB £A |57/~ b ARG 1 1| 6
EiE LEB | B 4231 M &3 ab 74b RS 1 1|7
FE TR HEB B 3683 ®iEE B2z (3T Yk TtES 1 1] 8
EIEDE LEB | B 124 N THARER  [h7hY 39509 BT 3 1|9
FE Bk LEB | B 4742 A FiE Y4 793 TS 1 1] 10
E iR LYEB | B 4741 B EE 4% artd REHE 1 1|11
ER DEB | B 3517 B D Thhg Fuvy EES 1 1|12

[iAEES T3] B R 5 B 4 AN 7 I 4 W il
M8 4% (1.500kg) HEB L 4106 S AR kG EAVLL] REBEFEES 1 1
9424 (1.500kg) YEB | B 9426 MA MR IYEh 24 b mpgErEs | 1 1
FI#24% (1.500kg) LEB | B 1943 % KRB 74/ 19t = 1 1
FI#2#%(1.500kg) LEB | B 3687 ARER IEMI Ny ah TTES 1 1
FI#44% (1.500kg) LEB | B 17161 AXE E3t g bub e Ly e 3 1

[EAEES T3] B BT B 4 AN BIEEAS0 Eaes il
5000mgsE 8= DEHEB| B 2675 EH £ f4 nyh [EICESES 1 1 1
5000mik% LEHE| B 2101 Ho fEi2 ath Antq RHIFRES 2 1] 2
5000mBE s DEIE| B 3123 =5 1% = RS 2 1| 3
5000miE% LEHE| B 3502 [iT] =i ¥E WhF 745 KES 2 1] a
5000mEE4 DEHLE| B 3119 I EX ' a9 RS 2 1|5
5000mE 4 LEXB| B 3582 ER E4£ h5° pEF EEE 3 1| 6
5000mEE DEHE| B 2663 WA #FX YEb 29974 BTN 2 1|7
5000m s 2 DEHE| B 2146 B4t BN ISREL BT RS 2 1| 8
5000m#E4 DEHLE| B 2504 INEI ¥RIK (A vam #9% ABILE 2 1] 9
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fii H 44 T3] kot iy BEE A EZEN T @44 s R AT o v
100m LEB | & 7930 WH EH ¥4 3b RS 1 1] 2
100m YEB | X 7925 1= e VAR L RS 1 1] 3
100m HEB %z 7923 Xul B3N HYI £t/ A A 1 1| 4
100m HEB E°8 7124 EFEREF BIE VYU 74N ARt EH 2 1 5
100m SEB | & 7922 R DE 1t 37 REES 1 1] 6
100m SEB | % 8644 1Rk ME 14 14 BEAATRS 1 1] 7
100m LEB % 7926 rHE = LU A 1 1] 8
100m HEB | % 5860 A¥M BE 7 nh zils 1 1] 9
100m HDEB 7 6210 FH ##FE 198" AR H g 1 2 2
100m LEB | X 7958 AR fE TYES Uh REE LS 1 2 | 3
100m HEEB % 5732 d)l| E# 89 7Y B¥E 1 2 | 4
100m DB ESS 7116 T bE 9/ 1af FEBHEH 3 2 5
100m LEB | % 6951 XF {EfM 7y 9 BERS 1 2 | 6
100m LEB | % 5414 ==]112) il Thy v b1y BiE 1 2 | 7
100m HEB % 7118 =t KRR 77 %t R EEh 3 2 | 8
100m LEB | & 8645 e b 179" F 33/ EAKTLS 1 3| 2
100m LEB | X 7121 mH BzE | E RN EF 2 3|3
100m HHEB S 7959 fmsx  HITE M 4t REE LS 1 3| 4
100m OFB | X 6512 Sl E v /7 mEE R 1 R E
100m HEB £ 7415 K5 Bt RS RN ES 1 3| 6
100m HEB z 5842 XKHE HEE 115 798 BIZTE 1 3| 7
100m LYEB | & 7122 E¥H EZ kn/ W4 REHER 2 3| s
100m LEB | & 9603 g faEE T+ 49 EEE 1 4| 2
100m LEB | & 21532 ¥ ImE hon Ay 33T IS th 3 4| 3
100m LEB | % 6604 XET i eI Uty 2ES 1 4| 4
100m LB % 6219 SN BE Y¥ nbh Liod Ty 1 4 | 5
100m SEB | % 5841 B i 40y 314 Bl 1 4| 6
100m LEB | & 7967 B E R i AL 1 4| 7
100m LEB | % 5861 Ei5 b= NN TH zils 1 4| 8

(A=A T3] B R ERTE 5 ks ZaE BEZEN T840 e R AR A vy
1500m HEB z 7963 My KEZE  [h3Y ILT AL S 1 1 1
1500m DEB | X 7965 i i 3349 ¥ 1Y "EELE 1 1] 2
1500m HEB | % 7201 N OV |30 b SAEES 1 1] 3
1500m HEB £ 5131 itiE EBF 495 1% E3 1 1| 4
1500m HEB 7 2302 NHE BEEERK |94 132 FER 3 1 5
1500m HEB % 6507 ml e ~yh9 TN TS 1 1| 6
1500m HEB z 7962 ERAK HAI | +F AL S 1 1 7
1500m HEB z 7120 AT ¥E&H /94 #1 AR EH 2 11 8
1500m HEB z 5132 BiKE B vIint ¥ E3S) 1 119
1500m DEB z 2304 AILRF— HHA |4 VAF-n-T=- RER N h 2 1] 10
1500m LEB | % 6508 Nk ZEAR I o FaFG E R 1 1] 11
1500m HEB | % 2306 = R LL 1273 434 B 2 1] 12
1500m LEB =g 8501 by = H4by T4 TR 3 1|13
1500m LEB =g 5130 FiE BRK 1by +13 EX) 1 1| 14
1500m LEB | & 6708 B OBLH 197 113 e 2 1|15
1500m HEB | % 2540 BAR ER FEM 3/ BEAT AC 1 1| 16
1500m HEB £ 6606 = -3 H+ 7H4 ) 1 1|17
1500m SEB | % 7109 I RE Iby 71% RENH 1 1] 18
1500m HEB | % 5133 [FA B N Bk S 1 1] 19
1500m HEB % 8646 HZE E#¥ ¥k 14 BAXTERS 1 1|20
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100mU18H(76.2cm_8.5m) | DB z 6951 KB &% T4y 9 RS 1 1 1
100mU18H(76.2cm 8.5m) | H&EB | % 6221 =H HE 8 74 FEEES 1 1] 2
100mU18H(76.2cm_8.5m) | H&B z 5733 =2 V% #h 19 B 1 1 3
100mU18H(76.2cm_8.5m) | A 4B E°§ 5732 d)ll E# +hh° 0 7Y B¥E 1 1| 4
100mU18H(76.2cm_8.5m) | H4&EB | % 6952 KiE  TEM, v rIAVARILS RS 1 1] 5
100mU18H(76.2cm_8.5m) | A 4B <4 7924 FEE =EEF |HY + REBEE 1 1| 6
100mU18H(76.2cm 8.5m) | H&EB | % 9901 mit FHE +1L5 A4 REHBETES 1 1] 7
100mU18H(76.2cm_8.5m) | A4 B =4 6212 XfE B# Iy e ARG 1 1| 8
100mH(83.8cm_8.5m) LEB | % 6603 =E B Ay 7Y efs 1 1] 9
100mU18H(76.2cm_8.5m) | 4B z 9722 R FRE 9ING HbY AEES 1 2 1
100mU18H(76.2cm_8.5m) | A 4B £ 7124 EEE BE (VYUY 74N REBIEH 2 2| 2
100mU18H(76.2cm_8.5m) | A 4B S 7929 E == 718 31% REBEE 1 2 | 3
100mU18H(76.2cm_8.5m) | H&B | % 5480 EAR OEF Y8 741 Bl 1 2 | 4
100mU18H(76.2cm_8.5m) | A 4B £ 7121 i "EwZ2F (01 /D REBHEH 2 2| 5
100mU18H(76.2cm_8.5m) | 44EB | % 5731 ZEmH $£F h)h 73h BE¥E 1 2 | 6
100mU18H(76.2cm 8.5m) | H%B | % 6506 HEE AEF ([T 03 LI 1 2 |7
100mU18H(76.2cm_85m) | A4&EB | % 9602 rX&F IZC ALY 23 =i 1 2 | 8
100mU18H(76.2¢cm_8.5m) | H&EB z 6059 b FUHE Thh3 )3 RE LB m 1 219

[iAEES T3] B R ks ZaE EZZEN T I 4 W L
FI#27%(1.000kg) LEB | % 7969 X %AH =y 1% "EELE 1 1] 1
FI#54% (1.000kg) HEEB % 7117 Al ZiD hHv 743 R EEp 3 1| 2
2845 (1.000kg) bEB | % 6383 =5 ER 3V hh AL 1 1| 3
FI#54%(1.000kg) DEB z 7966 B’ N\F 5= nvt FEBTE LS 1 1 4
F3#24% (1.000kg) LEB | & 7352 BE BA{E |t/ W EES 1 1|5
FI#%4% (1.000kg) HEEB % 7353 E&N # ME D 19 TtES 1 1| 6
8245 (1.000kg) »EB | % 7351 A EMW 77% K tES 1 1|7
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